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=1 — = o B&ER | . BHERERE]| | . EHRRE

== AhF3Y fmE FREN M (l0g) | B34 (19941 34) 994137 (1994137
(I EES TAHY X BRI h HFNHE] 1ME0OK)| A~ &E 5.6 | A& 4.9
I EES F—5 LRI L |[BRLLTZIEH] 190 (K)| AHH 9.1 | A& 7.9
EESES ARF+ BB LT AT 1BH(E)| A%H 6.1 | A1%&H 5.1
A EES ARF+ L hEH 17THCN) | A 4.1 | A EH 3.4
5 [Hx ARF+ ERLLTHERAR 108N A~ &E 3.8 | A&H 3.2
6 |FFx ARF+ ERLLTH AT ET 4LBOK)| A RE 8.7 | A %&H 6.8
MEES ARF+ BRI PR T 12B(KX)| A~ &HE 3.9 | I&H 3.3
I EES ARF+ ELHEALLET 198 (K)| A~ &E 4.9 | I&H 4.2
CIEES F Y BB ZAEHT 12B(KX)| A~ &E 6.5 | A& 5.2
EES F Y EBLLI 7 AT 26H(K)| I&HE 7.4 | A&H 6.5
11 |8 x5 F+ 8L HAOERET 25H0K)| AEH 10.7 | ~&H 8.3
12 |Fx RV F ERLLH HANEHET 258H0K)| ARHE 10.0 | ~&E 8.2
13 |8 YY1 E BT Z1E0] 5 190 (K)| AHH 6.7 | A&EH 6.0
MEES HYIYAE BLUTRENZFE | 2H(B)] A&E 6.9 | & 5.8
(FEES HUIYA1E ERLLTH RHRET 180K A &HE 4.9 | I&H 4.2
AEES HIUYTE ERILTH = A HE] 148 ()] ~&E 4.7 ARH 4.0
EES HIUYAE ERILTH= A HE] 148 (1) A~ &E 4.4 | RH 3.7
18 [B¥ IV ALE BLUHHEr B 16H(B)| A1&H 4.1 | A& 3.5
EEES HUIYA1E L I 4BOK)] A&RE 6.9 | & 5.5
EEES TYV1E 8L = HET 29H(H)| A1&EH 4.6 | A&EH 4.1
IEES HYYALE 8L Lh = FHET 290 (H)| A1&HE 5.8 | A~M&EH 4.9
22 |BE TYV1E 8L R EHET 18H(K)| AHEH 5.7 | A%H 4.9
23 |B=E TYV1E LT PREHBIRAER [ 18HOK) | A& 5.4 [ A%&H 4.6
A ES HYIYAE BLUAEXALENLA] 278(&)] ~EE 8.1 | A~#&H 6.6
25 |FE HYYTE K= 180K A~ &HE 9.5 | A& 8.3
26 |Hx HrAE LT 13H(&)] ~&E 5.8 | A&H 4.7
YIREES HrAE BB LI T AT 13H(&)] ~&E 6.0 | & 5.0
28 |Hx JIRD IR 2B(B)| A~ &E 7.6 | A& 6.3
29 [Hx >V () ERLTHFAAHITRER | 4H0OK)|] A &E 8.6 | A& 7.3
30 [F=x T H1E R0 HANEHET 168(8)| A~ &E 3.9 | &H 3.2
31 |89 I 1 E B8 HAN B ET 3IIH(N) | AR 7.4 | A&H 5.9
Y ESES EVEY] B80T HANEHET 1MEOK)| ~&E 10.8 | ~&E 8.6
33 |F=x EEE=P] ST ZHE ] AEIE IS 6.9 | & 6.4
A EES EEE=P] ELUTAAEEM |[238(B)] ~&E 7.6 | A& 6.1
I EES EXxF ST ZHE ] 198 (KX)| A~ &E 8.7 | A&H 6.8
36 |Fx —IY B80T HANEHET 1MEOK)| ~&E 5.2 | *&H 4.5
37 |F=x NTYA BB = HET 19ECR)| ~&HE 8.3 | A~&H 7.1
LI EES NTYA LU E A LLE] 31BN | A &HE 4.4 | R 3.8
I EES RoLyVY  [ERLHHAEE 16H(B)| ~&HE 1.4 | ~&E 9.3
40 [Hx =IF IR 19ECR)| ~&HE 8.6 | & 7.2
NIEES SRV K ag|llm 1MEOK)| A &HE 5.8 | I&H 5.0
IVREES SEPF;) BB R FLET 5H(R)] AigHE 10.5 | ~&E 9.1
43 |k GiPk. B=k®) |[FFEIK EITG e L] 17THCN)| A &EH 4.3 | A 3.7
4h [k GrEk. mEk®) |7KGEK EBILUHZEIE] | 208(2)] AMEH 3.8 | A1&H 3.3
45 (I - =02 |[7HANYST  |ERRMESEEAE 13E(&)| ~&E 11.9 | ~&E 9.8
46 (- EDQCFE(0UST BRI L e 28H (1) 11.6 7.8 85.5 5.5
NN AEPEL: LR ERGERTRIL [ 258H0K)] A &HE 12.1 38.9 8.4
48 (- EDCFE([0UST UTEEIIA [ 28H(X)] A &HE 7.4 27.2 5.1
49 (I -E0CFE(0UST HMUmEEITEE [158H(H)] A &E 8.0 43.6 5.6
50 [IZE:-FnZHE([VETY L EER K tBGK)] 167.2 7.8 | 1158.8 6.9
SINERE R AP LRG| 258H0K)] A&HE 6.8 8.4 5.7
52 [ FDE|[F X3 BT ERT 21H(&)| & HE 8.2 32.0 6.7
ENERERE A ESER EEYahi 108N F~&E 10.0 | ~&E 8.8
NERE R AESER L™ 68(2)] ~_&HE 9.7 14.6 8.8
55 |R=E FOZ7F BLUmEXLE/NLE| 108N FEH 5.6 | A& 4.7
56 |RE 1FID B80T HANEHET LEOK)] ~EHE 7.4 | T%H 6.3
57 |RE 1FID A= 19HCKR)| R~ &HE 8.6 | & 7.0
58 |RE ONJRD P EXKR™ 4LHOK)] A~ RE 8.0 | & 6.5
EIEES kS SEENT TMHOK)|] R~ &HE 4.4 | B 3.8
60 [RE kS TEEAEN 28H(X)| A&H 5.0 | ~&H A
61 [RE kS EEYahi 30H(B)| A~ &HE 7.4 | ABHE 6.2
62 |[RE kS ST ZZHEH] 2H(B)] A~ &HE 6.0 | ~&H 5.0
63 [RE kS ST ZZHEH] 6H(2)| &L 4.5 | BH 3.7
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=1 — = o BREH X RERRE| . EHERRE
=S A3y mE FREY (108) L1134 (6994134 ®I9h137 (£594137)
[TEES AES 8L Z A5 1T 25H(K) | A& 8.5 | A&H 7.6
65 [R=E AES LR 18H0K)| A& 6.2 | ~%&H 5.2
66 [R=E AES LT ASFHT 13H(&)| < &H 6.2 | ~%&H 5.2
67 |R=E kS TG 3H(N) | A& 6.3 | A&EH 5.2
68 [R=E AES I GE=% i} 28H ()] A& 5.1 | ~gH 3.9
69 [R=E AES B LT EHASTET 2H(B)] At&HE 7.2 | ~%H 6.3
70 [B=E AES BB LT EHASTET 3HON)] AigHE 7.6 | A& 6.2
[NEES AES ELHHNETME [31HCN)] RAi&E 3.9 | A& 3.3
72 [B=E AES ELHHNETME [31HCN)] R~i&E 7.6 | A~&H 6.4
73 [B=E AES 2B LI FE BT 18H0K)| A i&H 8.4 | A& 7.4
[EES AES ERLTHFAAHITRER [ 206 ()] A&E 7.2 | A%&H 6.5
75 [R=E kS ELMAAEHEIEARE | 31BN | A& 5.9 [ A%H 5.2
76 |R=E kS LS AILETAEH]| S HOK)| A1&H 4.8 | A&EH 4.2
[HEES kS LS AILETAEH]| 25HOK) | A& 13.1 | A~ #&H 11.6
78 [B=E AES LB EXLBEIRE [ 2008(2)] R~ &L 8.2 | A& 7.5
79 |R=E kS ELmEALETN\LA]| 1385 ()| A1&H 9.6 | A1&EH 8.8
80 [R= AES BB LLITh EERET 3THCN) [ A& 7.2 | A%&H 6.4
81 [B=E AES L/ \LLH 3THCN) [ A& 10.2 | ~1&H 8.4
82 [B=E AES ag)lm 1TTHCN) [ A i&HE 8.5 | A& 8.1
83 [B= hF ag)llm 1TTHCN) [ A i&HE 8.2 | A& 7.6
84 [R=E hF a8)lm 28H ()] ~%HE 6.6 | ~&H 5.4
85 [R=E 1) SRERR R 2H(B)] A i&HE 7.0 10.9 5.6
86 [R=E 1) EZAm 30H(B)| A #&HE 6.4 | A~&H 5.5
87 [B=E 1) 8L 10H(N) | R~ i&HE 6.9 | ~&H 5.6
88 |R=E 1) BB L& R 2H(B)] A i&HE 10.5 37.3 8.2
89 [RB=E 1) LIS XA HE] 10H(N) [ R~ &HE 9.9 | A&H 7.9
90 [RB=E 1) BB LT AT 3HON)] AigHE 7.7 | ~%&H 6.3
91 [RB=E 1) HAE =&FH] 2H(B)] A i&HE 5.4 8.3 4.7
9?2 [B=E 1) HAE =&FH] 10H(N)| R~ &HE 10.1 | ~&HE 6.7
93 [RB=E 1) HA™ 16H(B)| A#&E 6.2 | ~&H 4.2
94 [R= 1) N N 30H(B)| A&HE 7.6 | A~&H 6.4
95 [R=E 1) IR AKRT 4EOK)] A gE 4.7 A &H 4.1
96 [F=E 50 I T= MHOK)| & 5.5 | A& 4.0
97 [R= H0 8RR 3THCN) [ A i&HE 4.7 A &H 4.0
98 [R= KF/= BB = HET 16H(B)| ~#&H 8.2 | A& 6.7
99 [R= FINE BB ERAR 10H(N)|[ A &HE 5.6 11.8 4.0
100 [E=E J\Y 7 )LD — BB FaHE] 2H(A)| A~ &Hd 8.5 | A& 6.9
101 [R= JRD ST ZHE ] 4tHOK)| A~ gH 5.3 | A& A
102 [R= TIL—RU— [BLHEXALEZREE] 1M1HOK) ] A&HE 6.7 | ~&H 5.7
103 [EB= PYTRD BRI A ra Bl R 5H(R)] AigHE 5.3 | A& 4.6
TAEES PYTRD ERmERJLIB R 10H(N)| R~ &HE 6.0 | ~&H 5.0
105 [E= 1X L= X LLE] 25H(K) [ A& 6.1 | ~&H 5.7
106 [ER=E >3 LU/ \LLH 26H (N[ AR 6.4 | A&H 6.0
107 [&B=E Y3 WNEEEBILEFHT 23H(BA)| A& 4.7 A &H 3.9
108 [Zofib 4+ 3 (zn) LU= X LLH] 195 (K)| ~&H 11.6 | ~&HE 8.9
109 [Zofi 4+ 3 (zn) B8R e O] 12B(K)| ~&H 5.9 | A~ &H 4.9
110 |[Zofik AF (GRENE) [BRLhZER 195 (K)| ~&H 4.5 | A &H 3.7
111 [Zofb EE BB 5 A0 H] 4tHOK)| A~ &H 9.0 | ~%&H 7.4
112 [Z0fb EILE BB 5 A0 E] 16H(B)| ~#&H 4.4 | A &HE 3.6
113 [H29FEXR XK (%K) BB\ HAN AT 16H(B)| A~&HE 3.7 | A %&HE 3.3
114 [H29FEEXK X (BX) BB A~ HT 28H(L)[ A% 5.4 | AR 4.6
115 [H29FEXR X (BX) LT EEIRE [208(R)] ~MEH 5.3 | A %&HE 4.5
116 [H29FEEX X (BX) BB\ HAN AT 16H(B)| A~&HE 3.7 | A~ %&HE 3.2
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